Simplification d’Expressions (B)

Simplifiez chaque expression.

2+ 5c+T+1 6. —y*+y+10y* — 1

=y =y 4+ 5y+y° 7. —a—1—a*+a

4745324 8. —y> +y—Ty* +y?

10+a+d®>+d? 9. —p4+p—312— 22

=10y +5y* —y—Ty 10. ¢ —8c+5c¢"+1
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Simplification d’Expressions (B) Solutions

Simplifiez chaque expression.

22 +5¢4+T7+1 6. —y*+y+10y* — 1
__n,.2 2

—y’ =y +5y+y’ 7. —a—1—d*+a
= —y +5y =—a —1
LTS5+ 8. =y +y—Ty*+y*
10+a+a’+d’ 9. —v+v—3v* —2°
=2a*+a+10 — _5)2
-—10)’4;5}’2—)’—7)’2 10. ¢* —8c+5c* + 1
= -2y —1ly = 6¢” —8c+1
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